

$$\lim_{x \rightarrow r} \frac{-1}{r - \sqrt[p]{a+b}} = -\infty \Rightarrow \begin{cases} r - \sqrt[p]{a+b} = 0 \xrightarrow{a=-r^p} b=r^p \\ -\frac{a}{r} = r \Rightarrow a = -r^p \end{cases} \Rightarrow \boxed{a+b=0}$$

3.11.1

(1)

$$\Rightarrow x^p + ax + b = 0^+ \Rightarrow (x - \sqrt[p]{r})^p \rightarrow x^p - r \sqrt[p]{r} x + r \sqrt[p]{r} \Rightarrow a = -r \sqrt[p]{r} \\ b = r \sqrt[p]{r}$$

(2)

$$\Rightarrow \left[\frac{r \sqrt[p]{r}}{-r \sqrt[p]{r}} \right] \rightarrow \left[\sqrt[p]{-\frac{1}{r}} \right] = \boxed{-1}$$

$$\lim_{x \rightarrow -\frac{1}{p}} \frac{-1+a}{\left| \frac{1}{p} + a \right| + a} = -\infty \rightarrow \begin{cases} \exists \text{ عدد } < 0 \\ \text{عكس } > 0 \end{cases} \Rightarrow a = -\frac{1}{4} \Rightarrow \boxed{\left[-\frac{1}{4} \right] = -1}$$

(3)

$$\lim_{x \rightarrow -\frac{1}{p}} \frac{14x + 4}{r \sqrt[p]{x} + 11} \rightarrow \frac{-14 + 4}{-11^p + 11} = \frac{1}{0^+} = \boxed{+\infty}$$

(4)

$$\lim_{x \rightarrow r^+} \frac{x^p - r^p}{x^p - r} \Rightarrow \lim_{x \rightarrow r^+} \frac{(x-r)(x+r)}{(x-r)(x^p + r + rx)} \Rightarrow \frac{r}{1r} = \boxed{\frac{1}{r}}$$

(5)

$$\lim_{x \rightarrow -1} \frac{x^p + 10x + 4}{12 + 4 \sqrt[p]{x}} \xrightarrow{\frac{0}{0}} \lim_{x \rightarrow -1} \frac{(x+1)(x+r)}{4(x + \sqrt[p]{x})} = \lim_{x \rightarrow -1} \frac{(r + \sqrt[p]{x})(r + \sqrt[p]{x^2} - \sqrt[p]{x})(x+r)}{4(r + \sqrt[p]{x})}$$

(6)

$$\frac{(r+r+r)(-r)}{4} = \boxed{-\frac{1r}{4}}$$

$$1 - \cos x = 1 - \sin^2 \frac{x}{p} \Rightarrow \lim_{x \rightarrow 0} \frac{\sqrt{1 + \frac{x}{p}} - \sqrt{1 - \frac{x}{p}}}{\sqrt{1 - \cos x}} \stackrel{0}{=} \lim_{x \rightarrow 0} \frac{\sqrt{1 + \frac{x}{p}} - \sqrt{1 - \frac{x}{p}}}{\sqrt{1 - \sin^2 \frac{x}{p}}}$$

$\sqrt{1 - \sin^2 \frac{x}{p}} = \sqrt{1 - \frac{x^2}{p^2}} = \sqrt{1 - \frac{x}{p} \cdot \frac{x}{p}} = \sqrt{1 - \frac{x}{p} \cdot \frac{x}{p}}$

hop $\rightarrow \frac{\frac{-\frac{1}{p}}{\sqrt{1 - \frac{x}{p}}} + \frac{0}{\sqrt{1 - \frac{x}{p}}}}{\frac{\sqrt{1}}{p}} \xrightarrow{x \rightarrow 0} \frac{\frac{-\frac{1}{p}}{\sqrt{1}} + \frac{0}{\sqrt{1}}}{\frac{\sqrt{1}}{p}} = \frac{\frac{-1}{p}}{\frac{1}{p}} = \frac{-1}{1} = -1$

$$\lim_{x \rightarrow 0} \frac{k + 1 - \frac{ax^p}{p}}{kx^p} \Rightarrow \lim_{x \rightarrow 0} \frac{pk + p - ax^p}{pkx^p} = p \Rightarrow \boxed{k = -1}, \boxed{a = 4} \Rightarrow \frac{a}{k} = \frac{4}{-1} = -4$$

$$\lim_{x \rightarrow a^+} \frac{p\sqrt{x-a} + p(\sqrt{x-a}\sqrt{x+a})}{\sqrt{x-a}\sqrt{x+a}} = \lim_{x \rightarrow a^+} \frac{p\sqrt{x-a}}{\sqrt{x-a}\sqrt{x+a}} + \lim_{x \rightarrow a^+} \frac{p(\sqrt{x-a})(\sqrt{x+a})}{(\sqrt{x-a})(\sqrt{x-a})(\sqrt{x+a})} \quad (9)$$

$$\lim_{x \rightarrow a^+} \frac{p}{\sqrt{x+a}} + \lim_{x \rightarrow a^+} \frac{p(\sqrt{x-a})(\sqrt{x+a})}{(\sqrt{x-a})(\sqrt{x-a})(\sqrt{x+a})} = \frac{p}{\sqrt{4a}} + 0 = \frac{p}{\sqrt{4a}}$$

$$\lim_{x \rightarrow -1} \frac{1 - k[x]}{x^p - 1} \begin{cases} \rightarrow -1^+ \rightarrow \frac{1+k}{0^-} = -\infty \Rightarrow 1+k > 0 \\ \rightarrow -1^- \rightarrow \frac{1+pk}{0^+} = -\infty \Rightarrow 1+pk < 0 \end{cases}$$

$$\Rightarrow -1 < k < 0$$

$$\Rightarrow \left(k\pi, \cos k\pi \right) \rightarrow \frac{1}{p}$$

(10)